20244F4 A 43 = RS E S K R

1 TN 4104231 Qkskstoknx 16 JE BB X 50
2 3 5E 410423 19sksksksotonk6 7 JE B 4 X 50
3 2% 4104231 9sctotokokk 22 JL BB X 100
4 R 4104231 9k 23 JEBR G A1 X 50
5 FExA 4104231 ks ] 1 JE BB 4 X 100
6 B 41042319k 20 JEBRJE4E X 50
7 Uk 4104231 Pkssokokk 28 JE BB 4 [X 100
8 Vs 4104231 9skkksckokok 25 JEBE s 4 X 100
9 i 4104231 Qs ] 1 JE BB X 50
10 1 4104231 9%ksstokokok ] | JEBR)E4E X 50
11 LS 4104231 Qkskskoknx 16 JE BB X 50
12 Tk F 4104231 Pkskeksokotork 1 2 JEBRJE X 50
13 ke 4104231 Pkketsickeork 39 JE BB X 50
14 Fxig 410423193tk 16 JEEE s 4 X 100
15 ik 4104231k | JE BB 4 X 50
16 Bl 4104231 9Kzt 23 JEEE s # [X 50
17 RS 4104231 kst 1 2 JE BB 4 X 50
18 T 4104231 93kstketookg | JEEE s # [X 50
19 VEx 4104231 9skeksolorsior24 JE BB S #E X 50
20 T X 4104231 9xsskokokk 1 5 JEBR)E4E X 50
21 FxH 4104231 9kotstotonsk ] | JE BB S #E X 50
22 BT 4104231 9ssctokokokk 22 JEBE 4 X 50
23 A% 4104231 Qksstokkx 24 JL BB & X 50
24 Kk L 4104231 9kkkbkkdk]10 JEBRJE4E X 100
25 ek 4104231 9sktstolottok | X JEBR S #E X 50
26 25 4fH 4104231 9skkksctkokekk 27 JEEE s 4 [X 50
27 kS 4104231 Pksksoktkk 27 JE BB & 41X 150
28 BT 4104231 9ksstokokok 24 JEBRJE 4R X 50
29 Kok 4104231 Qksssootkk 25 JL BB X 50
30 x| 4104231 9%ksskkk20 JEBR)E4E X 50
31 Txf 4104231 Qo 34 JE BB X 50
32 BUES 4104231 9%sctokokok ] | JEBE 4 X 50
33 Fhx 4104231 9kkksctokk k28 JL BB X 50
34 R 4104231 9skkksckokkk 25 JEEE s 4 X 50
35 Wy 41042119kkskok24 KA XA RZE RS 100
36 i 410421 1 Qoo 2 1 XA X (R i 2 100
37 T 410421 1 Qkssokotkk 27 KA XA RZE RS 100
38 Kok 410421 1 Qoo ] 1 KA XA RBE RS 50
39 Tx 410421 1 Qo2 1 KX XA R 2 50
40 N 410421 19skkssks8%6 1 KX REBERAE 50
41 E2 41042119skksokkk46 KA XA RZE RS 50
42 ik 410421 1 9kssietokolok2 | KA RBERS 50
43 5 5 4104211988k 12 KA XA RZE RS 50
44 T 410421 1 Qksksootkk 35 XA XA R ZE 2 100
45 FExIK 4104211 9kkpkskokkk32 KX XA R 2 100




46 % 4104211 9kskottotonk33 KX XA R ZE o122 100
A7 Pl 4104211 Pkteksolotork2X j(f“Jﬁ:l:*]L%éJ\z: 100
48 Tz 4104211 9skkottototok | 8 KX XA R ZE 2 50
49 ZExY 410421 1 Qo2 | jzxﬂzi&ﬁ%éﬁ% 50
50 x 410421 1 Qksstokx 19 KX XA R 2 50
51 TqE 410421 19sksskk4546 XA XA %§J\ = 50
52 Fix 410421 1 Qo 24 XXM RBER S 50
53 B 410421190433 jzxﬂzi&ﬁ%éﬁ% 50
54 B 410421 1 Qkstorsiototork 1 3 KX XA R e 50
55 Rt 410421 19skkksckokk 22 XA XA (R 25 2: 50
56 PR 41042119tk 27 XA XA R ZR 50
57 fi] 410421 1 Qksscokkx 20 j(S(JﬁZI:*]L%éJ\K 50
58 B 410421 19kkkstokkk 32 R XA 2R 50
59 R 410401193kttt 2X KA XA %éj\ & 100
60 e 410401 19skksktk2X KEHXARE RS 50
61 Xi] 41040119tttk 36 KA RZE b1 2s 100
62 ik 410401 19%kksk55%24 KEMHXHNRERS 100
63 S 410401 1 9tttk 2 4 KEAXANRERE 100
64 Tx 410401 19sksksk85k2X KREMHXHNRERS 50
65 7k 410401 19skkksctokekk 25 KHE %il:ﬁ%émz 100
66 Ak 7 410401 19skkottototok22 KA X AT RZE R 50
67 {7 F2 410401195k 1 2 KFEAE XA %éJ\K 50
68 Hx 410401 1 9otttk 1 X KA XA B R 50
69 Zexil 410401 19skskksicokek 22 KA XA %éj\ = 100
70 TR 41040119kt d 7 RIEH XA R R 50
71 7 410401195580k 1 X jtfﬁl:ﬁ%émz 100
72 x5 4127021 stttk 38 KA XA RZE 51 25 50
73 1L 410401 1 9tttk 23 j()?t?ilzﬁﬁéﬁ% 100
74 TR 41040119kt 18 RIEH XA RZET A2 50
75 i fi 410401 1 Qoo | 8 KX RZE R 2 50
76 % 410401 1 Qkstsokkk 22 KEHXMNERERS 100
77 ks R 4104011935k 14 jzfﬁl:ﬁ%éj\z: 50
78 A+ 410401 193k 24 RIEEA XA R R 50
79 TR 410401 19%ksktckok 20 KA XA %éj\ = 50
80 Fx 410401 1 Qktoksiotetork 27 RIEH XA KT R 50
81 PR xy: 410421190k 1 3 jtfﬁl:ﬁ%émz 50
82 Jexty 410401 1 Qs 1 3 KEHXMNERERS 50
83 7 410401193k 2X jz)j‘??i&ﬁ%éﬁ% 200
84 Tk 410401193k 10 RIEHXF RET A2 50
85 R 410401 19skskksictoketon 1 2 KHE %il:ﬁ%émz 50
86 ik 41040119k 1 3 KEMHXANRER S 50
87 Kok 4104011950528 KEHXMNRERAS 50
88 Asx 4104011 Qketsorsorsior 1 4 KA XA RZE A2 50
89 T 410401 19skkksictokelk 27 KA RZE R 2 50
90 Wk 410401 19skkksckokkk2X KRIEH XA RZET A2 50
91 Fesktg 410401 19sksskk5520 A XA %ém; 50
92 X% 4104011 9sktottotonk4 5 KA XA RZE 2 50
93 B 410401 1955526 RN ?ilZEEéﬁ% 50
94 2k Y 410401193k 10 AMHXERERS 50




95 ik 41040119kttt 33 TR X [ b 2 100
96 B+ X 410401 19%kkrkix23 IR AL IX %éj\ 2 50
97 % 410401 1 Qkotksorord 5 T X RRE RS 50
98 i 410401 193kkskk4426 KA KBRS ja% 50
99 RS 410401 1otttk 28 TR X R s b 2 100
100 ARy 4104231 9%kkrk5k23 RENHXERE RS 100
101 At 410401 19sssotoiokon26 TNAE X 25 1 2 =0
102 ZEHT 410401 19etsksopskix39 TN X ERE 2 =0
103 2l 410401 1 9ottt | X TNAE X [ 25 1 2 =0
104 Y 41042319kt | AR At X R jﬁ% 50
105 VExitE 4104011kttt 23 TN X [ b 2 =0
106 Sk 410421 19#kkkakix28 IR A X %éj\ 2 50
107 G arad 4104011 9sotksotstorn] 1 TRNAE X 25 1 2 =0
108 el 410401 19sksotionix] 1 ;f\)_\é*iggﬁéﬁ% =0
109 [ 410401 1ot 3X TRNHE X [ 25 B 2 =0
110 Gk 411121 19%kk5k4%89 FEMH X ERE RS 50
111 2k 4104231 9skskkkkk36 TN X R T 2 =0
112 Pt 4104011 9sotsiotoiokor | 8 T X 2 b =0
113 5+ 4104041kt 27 LA X 2 =0
114 RN 410401 19kt 17 AR A X %éﬁ% 50
115 ZEk 410401 19kttt 19 TN X [ b 2 =0
116 H* 3 410401 19tk TX IR AL IX %éj\ 2 50
117 2k 4104011 9sotksottorn3 1 TNHE X [ 25 1 2 =0
118 Tl 410423194426 F X ﬁéﬁ% =0
119 ks 41040119ttt 10 TN X R 2 b 2 =0
120 i 410404 19skkkk4%29 FEMH X ERE RS 50
121 {5 4104041 9skkskskskkskx 27 FNMH X ERE RS 50
122 sl 410401 1 9otttk 27 T X 2 b 100
123 2 ot} 4104011 9otttk 38 TNAE X [ 25 1 2 100
124 J7* ] 410401 19kt 17 AR A X %éﬁ% 100
125 x5 65290 1 1 9tionn27 TN X R T 2 100
126 kI 410401 19%kkkk4%16 IR A X %éj\ 2 50
127 kR 41040119tk 10 TRNHE X 25 1 2 100
128 | et 1104011 owreos | JOCH RRA A2 50
129 GRHIT 410401 1 9sotoksiotster 2X TR X R 2 b 2 =0
130 T 4104011kttt 18 AKX ERR RS 50
131 k=1 41040419kttt 1 TN X [ 2 b 2 =0
132 Z*kil 410401 1 9kt 27 T X 2 b =0
133 8 4104011 9otttk 22 TNAE X [ 25 1 2 =0
134 Hi+F 410401 19#kkkrkix 1X AR At X R 5 o 50
135 LSl 410401 19kttt 1 3 T X 2 2 =0
136 G 410423 19#kkkakix13 IR A X %éj\z: 50
137 i 410401 19t 1 X TRNAE X 25 B 2 =0
138 | 10101 G X | KRR E R 2 100
139 Bff 4104011 9otttk 12 TROHE X [ 25 B 2 =0
140 TH55 410401 193kkskkx49 RENHXERE RS 0
141 Fxt 410401 1 9kskkokk22 TN X ERE LS 50
142 HR+ifE 4104011 9otksottoron] 1 TENHE X 25 6 2 =0
143 AR 4104041 9skskototsoior2 | TNAE X [ 25 1 2 =0




144 I 410404 193k 14 AMHXERERS 50
145 = 410401 1 9tttk | X IRt X %éi% 50
146 Fox2t 4104011958585k 22 AN X ERERS 50
147 fet sy 410401 1935k 24 R X E %éi’f‘ 50
148 Fx—= 410401 1 Qs 1 X AMHXERERS 50
149 ST 4127281 Pkskksokotkk 27 RN X E %éi’f\ 50
150 AR 410401 19%ksk555%23 AN XERERS 50
151 =k 41042319kt 1 M XE %éi‘f\ 50
152 Mg 410401 19skskkstokskk22 AMHXERERS 50
153 Hex 410401 1 Qoo ] 1 M X E %éi’f\ 50
154 T 410401 1 9tttk 1 X R X ERE 2 50
155 VR 410401 1 Qo3 1 IRt X JE %éi% 50
156 2 410421193k 2 | AMHXERERS 50
157 Tl 410401193kttt 1 4 MM X E %éi’f\ 50
158 e fil 41040119kt 1 3 AMHXERERS 50
159 e 410401 19%ksksorok 1 X TR X JE %éi’f‘ 50
160 R 410401 19skkkstokor 18 AMHXERELRS 50
161 X% 410401 1 Qkstototik3X RO EXE %éi‘f\ 50
162 5 410421 1 Qotorsictonck22 AR X ERE 2 50
163 ek 4104011935k 1 X v A DR %éi’f‘ 100
164 i 410401 1 9kttt 22 FEAXMNRERS 100
165 Sk 4104011 9kkkcbkakdok | fR A XS %éi/{:\ 20
166 ek 410401 19skstetotkokok ] 3 FEAEXMNRERS 100
167 skt 410401 1 9tk 1 8 e A XA %éi’f\ 50
168 Fxfy 410401 1 Qetotsiotoek22 E AL XA R G2 50
169 Rk [E 410401 1 ekstotsteiokak ] 3 i A XA %éi“ 20
170 Bl 41040119kt 18 EEMAXMNRELRS 50
171 k) 410401190k 18 T FEAL XA %éi’f‘ 50
172 Ak 410401 1 9otttk 24 E AL XA R i 2 50
173 EEE ] 4104011950k 25 v A DR %éi’f‘ 50
174 Xl 410401 1 9tttk 26 EEAE XA R 2 100
175 EiE 4104011985842 1 fa AL XA %éi% 50
176 B 410401 19skkkstokkk 22 FEAEXMNRERS 50
177 Bk 410401 19skkksctokk4 8 e A XA %éi’f\ 100
178 ek J 410401 193kstkatokok 1 4 EEAXMNRELRS 50
179 J*5 410401 1ok X e A R %éi’f\ 50
180 S 410401 19%k55k55%26 AN RERS 50
181 Tk 41040119tttk 2X e E A XA %éi‘f\ 50
182 Fex 410401 19sksksk85k2X A XA RERS 50
183 Hex N 410401193kt 1 X v A DR %éi’f‘ 50
184 e 410401 19skkkstokk k27 FEAXMNRERS 50
185 e 410401 193kskokkok 24 1o e A XA %éi% 100
186 Ak 4104011 9tottotsor 22 AL X R 512 100
187 Sk 410401 19skkksictokek 22 e A XA %éi’f\ 100
188 B 4104011958554 7 AEA XA RERS 50
189 Hrx 410401 1 Qkkksolotkk 25 e A XA %éi’f\ 50
190 Skt 41042119kt 1 8 EEMHXMNRELRS 50
191 EE 410401 1 9ok | re e A XA %éi’f\ 50
192 [T, 410401 1 9ksseietoolk 1 6 SEEMHXMNRELRS 50




193 ke B 410401 19sekekstolotsiok 1) AL XA RS Dl o 50
194 W 5] 410401 1 9tttk 1 3 = e ﬁl:ﬁ%éj\z: 50
195 Ehl 410401 19skkkstokkk28 FEAEXMNRERS 50
196 XI5 F5 410401 1 Qktesootork2X %Eﬁ&ﬁ%éﬁ% 50
197 s 2 41040119kt 1 3 EEMAXMNRELRS 50
198 fhvx 410401 19skkkskokkk28 s ﬁl:ﬁ%émz 50
199 2 410401 1 Qktoksiokotork 22 EEA XA RE RS 50
200 Wz 410401 1 Qs 25 e A XA %éﬁ% 50
201 g 4123271 9%k 26 FEMAXMNRELRS 50
202 ZExdE 410401 19k 29 fa AL XA %éj\z: 50
203 UL 410401 19tttk 1 X A XA R R 50
204 Fs 410401 1 9skstseotoksk 1 0 KJIE ﬁl:ﬁ%éj\z: 50
205 skl 410401 1 Qs | KX RZE T 100
206 i 410401 19skkksctokk23 KA XA %éj\ & 50
207 kB 410404 193kskk99 KEHXMNRERS 50
208 XIJ% 410401 1 Qkksolotkk 23 KEA X RZE RS 100
209 Sk 410401 1 9tttk 1 KIEA XM RE 2 50
210 e 410401 1 9tttk 28 KIEAXANRERE 100
211 dies 41040119skksokkiok 40 KA XA RE A2 50
212 Fahl 410401 193ksktketokk 24 KA %il:ﬁ%émz 50
913 K 410401 19sksksksksk20) KA XA R ZE 100
214 kR 410401 19kttt 19 ?%Fﬁ:l:*j%éJ\K 50
215 Fk1l 410401193k 14 KA RZE R 50
216 Fhvk 410401 19skkksictokek 27 K EA XA %éj\ = 50
217 Jkes 41040119skkskiok 19 KA XA RZE 50
218 KexhF 410401 1 Qkscorx 16 K %il:ﬁ%%nz: 50
219 Fx 410401 1 9kt 20 KEF XK RERE 100
220 Tpk 410401 19skskskk4%19 %Eﬁ&ﬁ%éﬁ% 50
221 Kok 410401 19skksttototok 1 5 KA XA RZE 12 50
222 ks 410401 1 Qktsckorkx 29 KEA X RZE RS 50
293 T 4104011 9skstttototok 1 5 R X A RZE 122 50
224 kil 4104041 9sksrotolkk 32 KIE ﬁl:ﬁ%éj\z: 100
225 L 410401 19kkkstokkk28 KA RZE R 50
226 FA A 410401193kttt 2X K EA XA %éj\ = 50
227 Kok 41040119kt 1 2 KEHXH RZE R 50
228 Pkl 410401 1 Qkksolotkk 28 K %il:ﬁ%%nz: 50
299 T2 410401 193k 2 | KEHXMNERERS 50
230 EiRAE 410401 1 9tttk 26 ?%E?ilzﬁﬁéﬁ% 50
231 Jfe] ok 410401 193k 2X KEHXMNRERS 50
232 [k 410401 19skkksicokeok 22 KA %il:ﬁ%émz 50
233 Sk 410401 1 9tttk 1 7 KIEA XM RE 2 50
234 Bl 410401 1 9sksteietotkk 24 KEMHXMRE RS 50
235 T 41040119kt 15 KEHXMNRERERS 50
236 Fok 410401193kttt 10 KEMXA RE R 2 50
237 ik 410401 19kstokakatokk 24 KEHXMNRERS 50
238 kL 410401 1 Qkktsolotork 1 2 KE ?filiﬁ%émz 50
239 e 41040119sekekstolotsiok 19 KA X A RZE 22 50
240 B 410421195k 23 ﬁ)ﬁ?a&&ﬁ%éﬁ% 100
241 SRk 41042119%k50k55k20) A FEAE XA RS Dl 2 100




249 T+ 410421 19kskkk5%20 ] AL XA R B 22 100
243 {3, 4104211 Pottotron | 5 {] FEAE XA %éj\ e 50
244 Hx 4104211 kpkrrkxdX i A XA R 0 50
245 THE 410421 19%kk50k%16 A FE A XA %éﬁ% 50
916 = 410421 1 9setkiorsos 27 ] FE AL XA RZE 5122 50
247 EXEs 410421 19kkkakix13 ] A XA %éJ\ = 50
248 Bk 41042119kttt ] AL DR R 7 25 50
249 X 410421193k %64 ] A XA Eéﬁ% 100
250 B 410421 19tttk | X i A XA R 0 & 50
251 Sx 410421 1Pksottortion2 | ] A XA B2 5 2: 50
252 Txh 4104211kttt ] 2 ] A DA B2 50
953 D 410421 19ssksokskork2 | ] A XA %éxz 50
9254 TxH 4104211 9ksetortoro3] ] A DX B 50
255 i A1l 410421 19kskiokion] 3 ] FE A XA %éj\ = 50
256 o 410421 19sksetiorsioren ] 1 VAL DR R i 42 100
257 I 410421 19kkkkkixd | IS XA R o 100
258 Fhx 410421 19%pkspkk%29 TS A XA R o 50
259 T 4104211 9etiotkion20 I A XA R 2 50
260 Tk 4104211 Pkstorstoskok69 A XA R o 50
261 %75 41042119kt TS AL XA I ot o = 50
262 W 410421 19#pkirkixd3 S A XA R 5 50
263 Fx 410421 19skskotsiotonsk ] 1 T A XA %éj\ = 50
264 A 4104211 9skkstotototok | X TS AL XA R 50
265 A 410421 19sskkstoonsiok 26 A XA %éj\ = 50
266 FExf 410421 1 Qkfoksiototork 1 8 TS XA R ZE 50
267 f[sk 7 410421 19kskoor22 T 5 4k XA %é% = 50
268 Bk 41042119tttk 28 FSAE XA RZE RS 50
269 Pt 410421 19%skkkk5%29 T V5 4 X A %éﬁ% 50
270 Tty 410421 19%skkk55%26 FSAE XA RZE RS 50
271 x4 410421 1 9otttk 16 A XA %éﬁ% 50
272 B 410421 1 Qsietsioorok23 T A XA B R 2 50
273 B 41042119kt x24 TS A XA %éj\ = 50
274 Fx 410421 1 stk 27 TS AL XA R 50
275 Y 4104211 Pottolron2b TS AE XA %é% = 50
276 JE 410421 1 Qs | TS XA R ZE 50
277 Bk 410421 1 9sstototototsiok4 0 TS A X A %§J\ = 50
278 Fxf 41042119skksolotsiok59 P X A R 2 50
279 P 410421 1 Qksototik3X L’Eﬁfﬂl/é‘i‘i XA %éﬁ% 100
280 A 38 410421 19%kkkk88k42 It XA RZE 2 50
281 P i, 410421193kt 16 ﬂl"%i XA RZE 2 100
2892 B 4104211 Ptttk | WA XA TR 51 4 50
283 T2 410421 1 Ptttk 26 lllAﬁ‘i X RZE RS 300
284 Fx 410421 193kttt 20 W XA R 51 2 50
285 ok 4104211935k 27 ﬂNi XA RZE A2 50
286 Wy { 410421 1 9tttk 20 U4 XA RO 1 4% 50
287 Vs 7 410421 1 Pkttt 20 ﬂf"ﬁ‘i Xt RZE RS = 50
288 ik 4104211 9skeksolotsiok49 P IX A R 2 50
289 Hx 410421 1 9kt | LA AL XA Eéﬁ% 50
290 i 410401 19tttk 19 EEMHXHRER = 50




291 Tk 410401 19sskskstetotkk 2 A X R RS A =0
2921 tx 4104011 9kctoox 25 ﬁﬁﬂ:ﬁﬁeéié—; 50
293 PRk 410401 1 9kttt 24 XA RZ A 50
201 | TR 410401 19iickictok24 ﬁ*ﬁ R A 2 50
295 2k itk 410401 1 9sksksisiesksksk 26 A X 25 B =0
296 GR* L 4104011 9kspirtx28 E‘“‘ﬁ: X A 25 B % =0
297 EIS S 410401 19kttt ] 1 A X R 2 A =0
298 Wkt 410401 19kttt 19 ﬁ%ﬁ[ﬁ 2 B A\ 100
299 M*ia 410401 193kttt 1 4 7 X 2 B A\ =0
300 %% 410401 1 9skskststsisksk X g*ﬁ X 2 AL % =0
301 2Rk 410401 193k 28 A X RS b A 100
021 x 4104011 9kbitioox 25 ﬁﬁﬂ:ﬁﬁeéié—; 50
303 Fxilp 410401 19kskskskokskokk 28 XA R R L 50
304 AT 410401 19kskiokion] 3 g;ﬁ[ﬁ %éi% 100
305 I 410401 1 9k 25 A KA RT A =0
306 VP 4104011 9eicioioioon2X XA RE G 50
307 T 410401 19kksksiokskoksk 24 EEHX M RERS 100
308 A 410401 19%ksksiskskkk 39 A X s =0
309 ke 410401 1 Qs 1 3 ;}iE*j%éiA =0
310 W*a 410401 1 9k 16 i*ﬁ“iliﬁﬁﬁi% =0
311 5K+ 410401 1 9otttk 26 A X R RS b A =0
S121 ik 410401 19sbkortioiox 20 ﬁﬁﬂ:ﬁﬁeéié—; 50
313 fExf 410401 19kttt 16 o X R RS e 650
314 i+ 4104011 9etkiortion] 4 E*ﬁ Xt %éj/—g 50
315 IZRIAS 410401 1 stk 22 Ak X R 2 A =0
S161 = 4104011 iottior27 ﬁ*zﬂ:ﬁﬁeéi% 50
317 Fhk 410401 1 9sksttek 49 kXA T A 0
318 x4 410421 1 9otttk 35 );%/ﬁi Xt Eéi,& =0
319 FH* 410421 1 9kskstsisksksksk 28 B A X R RS o =0
320 R*E 410421 19kkiokion32 A XA R A s 50
321 Bk 410421 1 9otttk 28 B XA R A 100
322 B 4104211 9rotsiorioion2 3 FEEAL X A %éi% 50
323 FExE 410421 1 93tk ] 2 B AN R A =0
324 A 410421 1Pkstkortion28 JREERE XA %éi% 50
325 U S 410421 19kt 1 B X MR RS 100
326 At 4104211 9kttt 20 AL XA ﬁéi% =0
327 F*4n 410421 19%kskkskkkx 22 BEA XM RRE RS 50
328 GR*E 410421 1 9kttotkon 1 4 B AL XA RS B A\ =0
329 Tk 410421 19%ksksiokskoksk 24 B X K S B A\ 100
330 +* 410421 19sskokk2 | B VR XA %%i% 100
331 RXE 41042119kttt ] 1 B XA R A =0
332 2 4104211 Qi 7 REFEAE XA 2 0t 2% 50
333 TRk EY 410421193k 1 5 B XA R A =0
334 RxE 4104211 Pttt 19 FREA XA RE R 50
335 F* 410421 19%kskstokskoksk2 1 B XA R L 50
336 +x 410421 19sskokkk65 B XA ERAS 50
337 Ji]* 410421 1 9sskstttostesk | B XM RZE RS 0
338 Xk i 410421 1 9okttt 30 BEEAE XA R 7 A\ =0
339 Rk 410421 1 9kskstsisisksksk 29 e A X R LS A\ =0




340 sk 410421 1 Qktoksiototork 32 FEEA XA RE RS 50
341 . 410421 1 9sksteesisorok 22 )%/%ﬁ‘jil:jﬁ%éJ\K 50
342 s*fT 4104211 psopiorior34 AL XA T A 2 50
343 Wy 41042119tttk q9 %EHIZH%éﬁ% 100
344 ] * 410401 1 9otttk 1 7 BiRUs A XA R 4 50
345 X1 41040119tttk BiJE %i[ﬁ%éj\z: 50
346 Bk Al 410401 19%skirrk 1X | PR A XK R ZE 100
347 e 4104011 Qktototrok25 | BRI ﬁ:Eﬁ%éH/‘ 50
348 x4 410401 19skksttototok25 B U XA R o125 50
349 Hox 410401 19sskokstsosteorsk | 2 B U+ X ) %éxz 50
350 Bk 410401 19%kk0k55k20 i U 1 XA R 2 01 50
351 Fx 410401 19sksoksokiek25 PR ﬁil:*j‘%ékzz 50
359 Jifi* 1t 410401 1 9sssikokoksksk 25 BUEAE XN RB RS 100
353 Bk 4104011 9ottotonron2d | BERUS AL IXAS R 51 2 50
351 Bk 410401 19sksktoksk25 PitUE A XA R 2 50
355 X 4104011 9ottt 28 | BEURUS A1 XA R 5 2 50
356 Sk 410401 1 Qskskskskskk 25 U XA REBERE 50
357 Sl 410401 19s%skskskskskokok2X BiUEH XN RERE 50
358 Jifisk 410401 19%kkkk54%22 B 1 XA R o125 50
359 ksl 4104211 9ot 14 | BERUS AL IXAS %éxz 50
360 = 410401 19pksorrn2X | B L X AT RZS 5 100
361 oty 4104011 9ot 2X | BERUS »ﬁ:[ﬁ%éjm 50
369 e 410401 1 9sksksksiskokoksk29 BUEAE XN RB RS 00
363 Zs iy 410401193kttt 1 4 bl u;ir”ﬁ:Eﬁ%émz: 50
3614 = 410401 19skskksiskoksksk | 2 B A DR )R 2 50
265 T 410401 1 skttt 3X i L}iﬁ%i’:*]h%éJ\K 50
366 Xij% 410401 19pksordn29 | B tE XA RZS 5 50
367 T+ 410401 1 9xkskskskokoksksk 22 E’E)ﬁfﬁi[:ﬁﬁémz: 50
363 Bk L 410401 1 9skskssikokoksk 26 PipE A XA RBR & 100
269 e 410401 1 9skkstskokskskk2 | S XA RZE 2 50
370 Fix 4104211 9epkiortin14 | B IX A R 012 50
371 Ptk 410401 1Pt 10 | FFPUEAE XA RZE R 2 50
379 TN 410401 1 9sksksksisiskokok 3X BUEAE XN RB RS 00
373 Fipseitt 410401 193kt 29 Bk A X R %éﬁ/‘ 50
374 ok 410401 19%xxskk5k5%2() P RUE AR XA R & 020
375 JRex 4104011 9ortotoon29 | BEIRUS %i[ﬁ%éj\z: 50
376 Fhwae 410401 19skskksskoksksk 22 B A DO R 2 50
377 i 410401 19tk 20 i L)ifhﬁ:[:ﬁﬁéﬁ/\ 50
378 STES 410401 1 9skssisiokksksk 1 5 PipE A XA RBR2 50
379 22 A 4104011 9koteotokor 10| 7R 41 XA RO ZR D 2% 50
380 Yk 4104011 Qoortotieron28 | BEUE AL XA RS 01 2% 50
381 Ex 4104011 9ottt X | PRARUS #F DXAT R B 2 50
389 sy 410401 1 9kssotoroksk 37 S XA RE RS 020
383 ey 4104011 9ootototoneron26 | BERUS AL IXAS R 51 2 50
281 R 410401 19skskskssk 1 X PiUE A XA R 2 50
385 =% 410401 1 Qstoletsioioiok 22 i RUE t: XA %éJ\zz 50
386 e shlk 4104011 Qoo 26 | PR 41 XA IR ZR IR 50
387 2L 5l 410401 1 9t 10 Bi uir“ﬁ:ﬁﬁémz: 50
388 Bk 22 410401 1 stttk 23 PipUs A XA R T2 50




389 % 4104041 9%xxkskk5k5%97 BiUEAE XN REB RS 50
390 Tk 41040119tttk 23 PiUE XA R 1 s 50
391 Tk 410401 1 9sksksisikokoksk 26 S XA RE RS 50
399 i) s« 410401 19%kskckok 20 i A XA %émz 50
393 Tl 4104231 Portorioxd9 | AR AL XM RS 17 100
394 T 4104231 Pkttt 10 RS )5 A DR %éxz: 50
395 % 5% 4104231 9okiortx 19 | BRRAE 1 XA RZS 03 50
296 o+ 7 4104231 9%k 15 *ﬁiﬁ]‘fhﬁ:[:ﬁﬁéﬁ/\ 100
397 xtik 4104231 Qoptiortindd | BRI AL IXR 2 012 100
398 {7 4104231 9skkkscokkk 28 BRAR i 4 XA %éj\z: 50
399 %3 4104231 9skskksteksesck 2X PR i A XA 2R T 100
400 fii 4104231 Qo3 | MR IS ﬁﬂ:*f%é%z 50
401 Bkl 41042319tttk 77 | B IS A XA RZR T 2 50
102 B 4104231 9sksksskskokoksk 26 BAEH XA RE RS 50
403 Ak 4104231 9tk 24 PR ik 4 XA R T 4 50
404 P 410423 1 9otioieienerd7 | BB IE 4 DXAT RZE B 2% 50
105 Wi 41042319%%x55k55%1 0 PR A XA T £ 50
406 EE 4104231 9%kkskskskokok X PR 4 XA RB & 50
407 s 4104231 Qorotoioror36 | BRI A1 XA R 2 A £ 50
108 0 4104231 9skkskokskokk2 | **X]‘T”ﬁ‘il:ﬁﬁéxz: 50
109 X% 41042319%%x5kk%k%19 R )5 1 XA 2R 50
410 % 410401 1 Ptttk 49 X ﬁ:l:*j%éJ\K 50
111 i 410401 19skskksiskokskk ] 3 X E A XA TR 50
112 e 410401 1 9xkskskskokoksksk 27 SfleﬂiI:ﬁ%éAz: 100
113 B 410401 19%xssskskoksk 1 4 XA XA R R 00
414 Bl 4104011 Peottolron28 xumiliﬁ%%mz: 100
415 Bkl 410401 1 9kskstsiskskskesk 1 5 XA XA R R 50
116 Sl 410401 19%xxkkk5k5%1 3 XUiﬁ‘iEﬁ%éiA 50
117 = 410401 19%xsssksksk5k 10 XA XA R R 050
418 L) 410401 19sssssrox2X X %iliﬁ%éi 50
419 T 4104011 9otttk A A XA R 5 50
420 2l 4104011 Peottotron2X K ﬁ:l:*j%éJ\K 50
421 Fxal 410401 19sksksksesk: 20 X E A XA (2R 50
199 P 410401 19s%skskskskskokok 3X I A XA %é% = 50
123 T+ 410401 19%kk555%29 A A XA R 5 50
424 Fok 410401 193kkskkx20 XIJWiEH%%EJ\z: 50
105 e 410401 19k | XA XA R 050
196 e 410401 1 9skskskesok38 XIE A XA R ZE 50
107 Bk 410401 19skkskskokskskk 16 X E A XA 2R R 50
428 B 410401 193kkskksox 14 X rfiliﬁ%émz 50
199 Tl 410401 19%ssrthion 1 4 R A DO R 0 4 50
430 Lk 410401 19tototoror] | XA XA RG22 01 2 50
131 [rop 410401 1 Qsksksksoksokk | 8 X EAE XA TR 2 50
432 i} 410401 1 Qoo 1 8 X EAE XA R T 2 50
433 % 410401 19tctotook 17 XEAE XA R ZE A 2 100
434 JEae 410401 1 Qskstessiokotekek 1 5 %Tiﬁ‘ili%%é/&: 50
435 X1 410401 1 9tttk 2X JerEAE X E R o1 2 100
436 sz 410401 19sskskstesssiesk 10 mﬁiwﬁﬁéﬁé 50
437 Fx 410401 1 Qetorsictonck27 TR X ERE RS 50




438 T > 4104011 9skkottotonok25 JeREAE X JE R o 50
439 sl 410401 19#kkkakix 18 JerEAE X R %éj\ = 100
440 e 410401 19%kkpkik 13 JEHEAL X G2 0t 2% 50
441 BERy 410401 19%xxkkk5%29 TFERE X R %éﬁ% 50
449 Ak kf 410401 19skotettoteoteok | 3 JeREAE X R Do 50
443 Ex 410401 19#kkkonkin22 JerEAE X R %§J\ = 50
) HEx)] 410401 19%skskokskskosk ] | JeREAE X R RB & 50
445 e 410401 19#pkipkix] | JerERE X R %éﬁ% 50
446 Jk:s 410421 19%kkkk84%25 AR X E R ZE RS 50
447 ERUN 4104011 9etksottion] | JerERE X R %§J\ = 50
448 fa] % 410401 1 9kt 26 AL X R R 50
449 22k 410401 19%kkkk%19 JerERE X R %éj\ = 100
450 Tt 4104221 Ptttk 34 oAk X JE K2R 7 50
451 Bk 4104011 9kskkikkx46 JeYEAL X %éj\ = 50
159 kg 410401 19%%%sxk5k5%32 TR AL X E R T2 50
453 B 41040119tttk 20 T X E R R R 50
454 A5yt 410401 1 Qeorsiotock38 PR X E RE 2 50
455 izl s 410401 1 9skskskskokoksksk [ 3 HPFEHXERERES 50
456 %48 410401 19tttk | X JeiEA X R R o 50
457 Tl 410401 1 9xkskskskskoksksk 22 WAL X E %?J\z: 50
458 e 41040119k k23 AL X R R 50
459 Bk i 410401 19kt | S AL X %éj\ = 50
460 F%E 410401 1 Pkttt 24 oAk X JE K2R 7 50
461 P 41041119ttt 20 SR AL X %éj\ = 50
462 Xl 410401 1 Qkstksicketork 25 Je AL X JE R 50
463 I 410401 19ksotsortson 1 3 JEUEAL XS %§J\ = 50
464 Brokst 4104011 9kskkkkx26 JeilEAt X e R 01 50
165 P 410401 19kstrtin] X AL XS Eéﬁ% 50
466 5 sl 4104231 9%sk%k%5%26 T X E R o 50
467 X 410421 1 Qsteletsiotonkd AL X %éﬁ% 50
163 T 4104011 9skskkskskokskk22 X EREBERS 50
469 Rl 410421 19%kkkk4%29 S AL X %éj\ = 50
470 XI5 41040119kttt 7 AL X R R 5y 50
471 Fxifg 410401 19k3kkak4%6 1 JeYEAL X %éj\ = 50
472 T 410401 193¢k 20 Je AL X JE R 50
473 P 410401 19skskkik10 oA X %§J\ = 50
474 Mk 410401 19sekkstkonsior |9 JeEAt X R o1 25 50
475 T bk 410401 19sksottoron 10 S A X %éﬁ% 50
476 e 4128281 9kkkak5x28 JeEAE R RE & 50
477 FHqE 410401 19kstsortion28 S AL X ) %%J\ = 50
478 WK 410401 19k | X JeiE AL X R oo 50
479 Tk 410401 19#kkkakix 13 St X R R o 50
480 dfes 24 410401 19skkkkik2X A X ERE RS 50
481 Byl 41042519kt %20 AL X i R o 50
189 - 410401 19%k80k5x%19 JRUE AL X R RZE 0122 50
483 Fk 4104011 9kskkkix 12 JeEAE X R o = 50
484 FH % 4104231 Pkttt 29 AL X R o 50
485 TxE 410401 19%kkkok4k45 Je A X s %éﬁ% 50
486 YpAl 4104231 Qotksottokn6 7 Jeiiat X i R o 50




187 P 4124271 stttk 26 AL X JE R o 50
488 Eitid 410401 19ksokionix26 T A X JE %éj\ e 50
489 SR A 410401 19kt 2X Jeliat X IR 4 50
490 Rl 412327 1 9pkiorkix28 St X %éﬁ% 50
491 s 419004 1 9#kktkix69 JEEAEIX R R T2 50
492 X3 4104011 Pkstkckn20 JeEAL X ) %§J\ = 50
193 Fx 410401 19%ksksk%23 JEIEAL X IR 5 100
494 J& )i 4104011ttt 2X | AL XA R D H/‘ 50
195 25l 410401 19kseiorkn23 | R AL XA R A 25 50
496 Pk 4104011 oottt 22 | o U A XA R B o = 50
197 Fx 4104011 Qb2 | i AL X AT [ 17 100
498 B i) 410401 19%krkrx23 | R AEIX A %éj\ = 50
499 e 4104011 Poototorotoor2X | o U 4 XA B R B 2% 100
500 Fx 4104011 9opkioptien2] | B L XA 2 01 2% 50
501 Wx 410401 1 9sksksksskskkk 2 1 XN RE RS 50
502 Hks 4104011 Qoroioon27 | B IR AL XA R A 22 50
503 B 4104011926 | BB AL XA RE M & 50
504 Fx 41040119tttk 19 A AL XA R R T 2 50
505 R 410401 19bootorkox20 | R B 41 XA RZS B 25 50
506 Pkt 4104011 9oioriorordX | B 4L XA RZR 01 2% = 50
507 W 4104011 Qw20 | i AR X AT [ ZE 17 50
508 Pk 4104011 Ptttk 23 i ﬁrfﬁ:[ﬁ%éj\ = 100
509 e 4104011 Phoototorotoor62 | o U 4 XA B R B 2% 100
510 SRk 4104011 9opkiotion28 | B L XA [OZS 01 2% = 50
511 . 410401 19wpkirrsx26 | FIIUT L IX A RZE 5 50
512 e 41040119ttt | R ﬁE%iE*T%éj\ = 50
513 fi* 4104011 Qw25 | g 4E X AT [ 7 100
514 bR 410401 19kskiorixdd | B AR X Eém = 50
515 Wk - 41040119kt 17 | U AL XA R A 25 50
516 B 4104011 9oioriorr29 | B AL XA R 51 2% 50
517 Bk 410401 19%kkepkr 1X | F AL XA R 01 43 50
518 Tk 410401 19cortoion26 | il ﬁrfﬁ:[ﬁ%éj\ = 50
519 Bl 410401 1Qiioriorieon | X | FBUAEAE XA R A & 100
520 RN 4104011 9pkiorrin19 | BT AL XA [RZE D H/\ 50
591 Fox 4104011 Qkwrorx2X | i AR X AT [ ZE 17 50
522 Hox 4104231920 | R ﬁffﬁ:':*]tﬁékzz 100
523 X% 410401 19%kk5k5k4%25 B A XA R 50
594 ok 410401 19%%x5k5k%%2 | ﬁfﬁ&“ﬁ[:ﬁ%éﬁ/\ 50
595 T 410401 1 9skskssikokoksk2) B EA XA RBE RS 050
526 Fha 4104011 9otoriorr29 | B 4L XA RZR 51 2% 50
597 Gk 410401 19555555525 B O A XA R B 4 50
528 T 4104011 9oioriornd3 | B #E XA B2 01 2% 50
529 TH4E 4104011 Pkortoorord] | U 41 XA B S 51 4% 50
530 X 4104011 9okiorton2d | B L XA [OZS 01 2% 50
531 Bk 4104011 9%pkrirrx20 | BB AL XA RE M & 50
532 Wyt 4104041 9opioriornd8 | R AL XA R 01 2% = 100
533 Ak 410401 19wpkeprix25 | FEIUTE L IX A RZE 5 100
534 Fix 410401 1 9skskskskokoksksk 1 2 T‘ﬁfﬁ&“ﬁ:[:ﬁﬁém S 50
535 2370 410401 1 9%k 14 B A XA KRB 50




536 Xl 410401 19%kk5kk4%28 A B A XA R G 2 50
537 = 410401 1 Qkkksokotk k62 i ﬁrfﬁ:[ﬁ%éj\ PN 50
538 2k 410401 19skkkstokkk22 R XA RERE 50
539 ks 410401 19skkksctokelok 18 B4 XA RE R 2 2: 50
540 Wk 410401 19kt 2X B A XA R 50
541 Fx 41040119054 3 T O A XA %éx 2: 50
542 Jifix s 410401 19k 17 PO A X R R 50
543 kK 410401 19sskskstsosonsk28 P O AR XA RS H/\ 50
544 ] 410401 193k | B XA RERS 50
545 RS 410401 19skkksctokkk 25 B4 XA RE RS 2: 50
546 FxEf 410401 19%kkkk5k5%27 B A XA R 50
547 Kok 410401 1 Qkssckokkx26 5L ﬁrfﬁ:[ﬁ%éj\ N 50
548 Jifisk % 41040119kt 39 B O A XA R 1 2 50
549 = 410401 19skkksctokk23 B4 XA RE RS 50
550 ifi 41040119kt 1 7 B XA RERS 50
551 X+ 4104231 9kskksokotork 1 8 R EAXARE RS 100
552 THB11 4104231 9kskstokk k38 R RE RS 100
553 Fx 4104231 9%kkskskkkk3X R EHXMNEZRS 100
554 i 4104231 9skkkskkkk2X REHXERE RS 100
555 s 4104231 9skskscklok 2X REHXMNRERS = 100
556 ik 41042319tttk 7 SR EAE XA R 50
557 ek H 410423 19%ksksksokok | X SR A XA %éj\ = 50
558 e 4104231 9skkkskktok 1 X REHXHRER 50
559 ks 4104231 93kstketook2 | SR AR XA %éj\ = 50
560 Tk 4104231 9skkkskktok 1 X R EHXHRER 50
561 Fisk = 4104231 9kskstotolksk 57 SR AR XA %§J\ = 50
562 Bl 4104231 9sksskk4540 R RE RS 50
563 FexJ7 41042319kt 7 R A XK %éﬁ% 50
564 it 4104231 Qskksotokkk5 7 REHXEHRE RS 100
565 Ex{F 4104231 Ptk k28 % A XK %éﬁ% 50
566 X4 4104231 9skskksteksesek 4 X REHXEARE RS 50
567 THS Al 4104231 9kskskeiotokk 1 4 SR XA %éj\ = 100
568 ik 4104231 Pksteksiototork 1 8 SR EAE XA R ZE 100
569 RSy 4104231 93kskkekokk49 SR AR XA %éj\ = 50
570 T 4104231 9kkkstokk k23 R EHXARER 50
571 [k 4104231 9skkksctokkk 25 SR AR XA %§J\ = 50
572 YN 41042319tk k27 REHXHRE RS 50
573 FxE 4104231934420 R A XK %éﬁ% 50
574 Sk 4104231 9skkksckkkk4 X R RE RS 50
575 Tl 4104231 9xsstokolokk | 5 SR AR XA %éj\ ox 50
576 Zs [l 4104231 9skorsctonck27 R RE RS 50
577 TkAy 41042319kl 46 REHXMNRERAS 50
578 Fa*iz 410423193k 3 1 R REZ RS 50
579 [k 4104231 9skskksictokelok 27 R EHXAMRERS 50
580 Wy 4104231 9kkktok2X R EHXHMRERS 50
581 JEYea 4104231 9sksksckkek 2X REHXMNRERS = 50
582 i35 4104231 9k%kkk 4446 R REZ RS 50
583 FexJ7 4104231934k 16 R A XK %éﬁ% 50
584 B3 4104231 Qokskrtok k24 REMHXNRERS 50




585 B 4104231 9skksiolotsiok 26 R EAH XA RZE RS 50
586 Bk 410401 1 9sksksksioksekk 27 Ly A XA %éxz 50
537 P 410401 1 9tk 20 s XA R R T 2 100
588 Bk 410401 1 9skskssiokokk 28 Ly A XA %éﬁ% 50
589 Sk 410401 1 Qskskssskskk 24 s XA RE RS 100
590 K 4104011 Prottorok 19 Ly A RS %é% = 50
501 . 410401 19skkskskokskskk 24 A X R T 2 50
592 G 410401 1 Qskskksiokekk 27 Ly A XA Eéﬁ% 50
593 - 410421 19skksskokskk %56 e X R T 2 50
591 ek 410401 1 9xkskskskskoksksk 22 Ly A XA E%J\ = 50
595 XK 410401 19skskskskskokskk | X LAk XA R R 100
596 T 410401 1 9sksksksiokskk 28 Ly A XA %éxz 50
597 Wik 410401 19skskksikokskk2X L AR X R R 50
598 Fxky 410401 1 Pkttt 24 Ly S A XA %é% = 50
599 . 410421 19%kskskkk%562 s XA RE RS 50
600 2 4104011 9icomonk26 et A IR 2 50
601 e 410401 1 Qsksksksskskk 23 st XA RERS 50
602 P 410401 19tk ] X st XA RZE A2 50
603 ik 410401 19%kskssksk%%23 s XA RE RS 50
601 . 410401 193tk 10 Ly A XA %?J\z: 50
605 Ak 410401 19skkskskskskk209 LAk XA R R 50
606 E 410401 1 9sksksksiokskk 29 Ly s A XA %éxz 100
607 XK 410401 193kksskoksksk ] 1 LA X R R 50
608 i)l 410401 1 Ptttk 1 X Ly A XA %é% = 50
609 e 410401 19skskskskokskk2X LAk XA R R 50
610 pARRin 4104011 Perottorok39 Ly A RS %é% = 50
611 Bk 410401 19skskksskokskk22 e X R T 2 50
612 X 410401 19skksskkskkx46 L At XA Eéﬁ% 50
613 % 410401 19skkskskokskkk26 R X R T 2 50
614 X 410401 19skksskskskkx2 | Ly e XA R i 2 50
615 P 410401 19skksskoksksk ] 1 A X R T 2 50
616 P 410401 1 9sksksksioksokk 1 5 Ly A XA %éxz 50
617 e 410401 1 9tttk 16 L A XA R R 50
618 Tk 4104011 Peottolon2X Ly A RS %éj\ = 50
619 i 410401 1 9sstekotsketonck28 L A XA RS 50
620 X i 4104011 Pottotron 1 8 Ly A RS %é% = 50
621 Hi* 410401 19skksksksksksk29 e X R T 2 50
622 B 410401 1 9skskksiokkk 28 Ly S A XA Eéﬁ% 50
623 i 410401 1 Qskskssskskkk 25 i XA RE RS 50
624 Sk 4104011 Gerottoror24 Ly A RS %%1\ = 50
625 E 410401 1 Qsksksksskskkk 20 i XA RE RS 50
626 E 410401 1 9skskskskskkx 20 L A XA R 1 2 50
627 EY) 410421 19kt 1 4 RIFAE XM RE 2 50
628 E 410421 19skksksskskkk 20 R XA KRB A S 50
629 EI 410421 193tk 10 KA XA RE RS 50
630 SRR 410421 1 9skskskskskkx 30 KP4 X AT %éJ\z: 50
631 T 410421 19skksskokskskk 2 | R XA RT A 2 50
632 T 4104211 9skskksskokskk48 R XA Eéﬁ% 100
633 skt 410421 193tk 22 R XA K2 b1 2 50




634 Ak 4 410421 1 93tttk 19 RIPA XA R Ao 100
635 HHTE 4104211950k 1 2 R XA %éi% 100
636 Sk 410421193k 20 BN RERS 50
637 LS 410421 19skkksctokk 27 R4 X RS %éi’f\ 50
638 S 410421 193ksskk26 R XA KRB A2 50
639 fFsFk 410421 1 Qkktsolotork 1 2 RIEH: X A} %éi% 50
640 ¥ 410421193k 19 R XA KRB A2 50
641 ZExqE 410421 1 9ssetokokokk 23 RIPAE XA T R A 100
642 Bk 4104211 9skksokiok24 RIPAE XA R 7 A 50
643 ek 410421 1 Qkksootrk 38 R4 XA %éi% 50
644 Sk 410401 1 9tttk 30 I XA R T A2 50
645 gk B, 410421 1 Qoo ] 1 R4 X AT %éi% 50
646 Zxk 410421193k 16 BN RERS 50
647 T 410421 19skkksctokk 28 REEA: X AT %éi% 50
648 SR 410421 1 9otttk 1 X I XA R o 50
649 Bk 410421 1 Qksksolotork 1 5 TR XARE R 50
650 Zs x5 410421 1 9tttk 27 Tt XA R 2 50
651 e 41042119tk 28 A XA RE 2 50
652 Tl 410421 1 Qs 29 FﬂﬁEﬁ%éiA 100
653 Sk 410421 1 Qksckorkx 49 TR XA RE RS 50
654 M%AE 41042119skkskk20) A XA RE 2 50
655 HokE 410421 1 Qkksolotkk 23 YA DR %éi% 50
656 x|+ 4104211 ktsorstorsior 10 A XA R B2 50
657 FEx1E 410421 1 Qkkksokotork 22 A XA %éi% 50
658 42 410421 19sksoksokek23 A XA R 54 50
659 = 410421 1 Qkksolotokk 42 A A XA %éi% 100
660 yia 41042119kkskkk49 T XA RE RS 50
661 Tk 410421 1 9%sciokokk 26 TR R %éi‘f\ 50
662 I 410421 19k#kskkk35 XN RERS 50
663 Tk 410421193k 20 A XA %éi’f\ 50
664 B 410421 19kskksctokkk 27 XA RERS 300
665 FxE 410421 1 9tttk 2X VAT DR %éi% 100
666 fi* 410421 1 9tttk 26 TR XA R 2 50
667 AR 410421 1 Qkksolotork 1 8 A XM %éi% 50
668 ok 410421 1 Qorsiotonck28 TR XA R G2 50
669 Tkx kK 410421 1 Qksscorkx 39 A A XA %éi% 50
670 FH 410421 19%kkkkk4%2 1 T XA KRB S 150
671 Tl 4104211 9skskksictolketok 1 3 A RE R A 50
672 fiT % 41042119324 A XA RE R A 50
673 FxfL 410421 1 9tttk 2X YA DR %éi% 50
674 sk 41042119skkkkk 1X A XA KRB 50
675 i 410421 1 Qkssckorkx 16 XA RE RS 100
676 Bk 2% 410401 193k 24 BEMXMNRELRS 100
677 2 410401 1 Qkssckorkx 20 BEMXNRERS 100
678 Hx 410401 1 Qkksksoknx 14 MR RERS 50
679 Bk 410401 1 9sssktorksk 1 7 BIEAXMNRERAS 200
680 T 410401 193kt 2X R XA RET A S 100
681 B 410401 19skkksictolkelok 18 A XA RZE R A 50
682 By 410401193k 19 BEA XA RZE R A 50




633 XA 4104011 9kstkrkix13 A XA RE RS 50
684 txite 410401 1 Pkttt 24 Emﬂiﬁ%émz 50
685 X 410401 19kstkpk5425 HHEA XA R 2 50
686 X4t 410401 19kt 13 EE&BH%?E% 100
687 TR 41040119tttk HEAXARZE RS 50
638 Ak ) 410401 19#kkkrkin 13 EF&EH%?AK 50
689 frsdgig 410401 1 Qskkstotokkk 23 AN RERS 100
690 T 410401 19%%xx5x5%%%29 EE&IXH%?%% 150
691 ik 410401 1 Qktoksiototor 1 3 AR RERS 50
692 Er* 4104011 9kspkk5%20 HAE %il:ﬁ%émz 50
693 Tk 4104011 9kstkrkix38 H AR DR R 5y 100
694 Sk 410401 19skkk%20 2 ?filiﬁ%éj\z: 150
695 2 410401 19kt 2X AR A 2R 5 50
696 ExF 4104011 Potototoron | HEAE XA %é% = 100
697 Eh: 410401 19%#k58k5426 A XA R i 4 50
698 Bk 410401 19#kkkakix25 HEA XA RE R & 100
699 X1 410401 1 9tttk 26 B XA RE RS 50
700 Tt 410401 1 9sbkionskix28 H A XA RZE R 2 50
701 Jy% 41040119kt 22 HEA XA RZE R4 100
702 X 410401 19skkskk4%19 EF}iEH%éAz: 100
703 Exg 4104011 9sekksiolorsiok2() A XA R T 50
704 Sl 410401 19%kkkk%10 2 ﬁ‘il:ﬂ%éJ\z: 50
705 B 410401 19%kkkk%19 A XA B2 B 50
706 Bk H 410401 19kstskortson 15 AR DR %éj\zz 50
707 [ 410401 1 9sksotiotix29 A XA IR 50
708 B 410401 19skkkkix14 EF&EH%%EJ\K 50
709 X% 4104011 9skeksiolotsiok24 HEAXARZERS 50
710 Rk Y 410401 1 9skstestesskskeskesk [ 2 EEHIZH%?%% 50
711 BE % 4104041 Pksetortond AN RE RS 300
719 Bk L 410401 1 9ssskorsksk 15 BHEAXMNRERS 100
713 Faxd 41040119kttt A XA RE RS 100
714 Jix 410401 19#kkonkin22 2 ﬁ‘il:ﬂ%éJ\z: 100
715 Bhxfh 4104011 9storoior 14 SEAE X R 2 100
716 gk x 410404 19ksksk%2X H A XA %éj\ = 100
717 xR 410401 1 9koksoton 18 B A XA IR 50
718 Fx 410401 19kkkorkir2X EF&EH%?AK 50
719 B 410401 19%kkpkx24 H A XA RZE & 50
720 Tx 410401 19skikiorix29 E)ﬂiaﬁﬁéﬁé 50
721 Tx 410401 19spkspkx26 H XA RE & 50
792 BT 410401 19sskkstsototok65 B A XA %ém: 50
793 P 410401 19pkirsir2X HEAE XA RE R oy 50
724 Fx 4104011 9kskkk5%25 HEAMXH RZE G & 50
795 B 410401 19%#5s8k5% 16 HHEAL XA RZE A & 50
726 JE 410401 19kstsortion28 HEAXH RZE G & 100
727 Fb 410401 19sssctorsik 7 HEA XA RR 2 50
728 oK 410401 193kskskksx 10 EF&EH%%EJ\K 50
729 TEHk 410401 19kt B A XA IRE 4 50
730 X IR 410401 1 9ttt 1 7 HEAE XA %éﬁ% 50
731 BRo%E 4104011 9otttk 1 H A XA RE R & 50




732 ExJ 4104011 9skkottotonk28 HEAXARZE RS 50
733 Fxt 410401 1 Ptttk 27 B ﬁil:*j%éJ\K 50
734 B, 410401 1 Qktorsiototork 1 8 A XA R b2 50
735 Fx 4104011 9ksotkrind 3 EE&BH%?E% 50
736 1]l 410401 1 9kt 30 AR RERS 50
737 2 410401 19iieiionk29 Emil:ﬁ%%b\z: 200
738 B 410401 19%#k3pk+%20 H A XA RZE & 50
739 Bx 410401 19kt 13 E)‘ﬁi&ﬁ%éﬁ% 50
740 i 4104011 skspsotieond 4 AN RER S 50
741 Ak [ 410401 19kt 17 Eﬁil:ﬁﬁémz 50
742 X% 7 4104011 9sktottoteotok 1 8 A XA R T 50
743 SR 410401 19#kkkakin23 2T ﬁ:l:*j%éJ\K 50
744 ek 410401 1 9sksotiotix20 AR A 2R 5 50
745 Pk 4104011 Pspkotin24 AR DR %éj\ = 50
746 =L 410401 19%kkkir+26 A A KA RZE 01 45 50
747 R 410401195tk 4%19 HEA XA RE R & 50
748 Bk 410401 1 9spkrsos27 H AL XA RE R 2 150
749 Al 410401 19kl 19 HEHXMNRERES 50
750 Xk 410401 19sksetieson 1 7 HEA XA RZE R4 50
751 Ex= 4104011 Peottotoon | 5 Eﬁil:ﬁﬁémz 50
752 T 410421 19sksksoriordX FHT A XA B ZR 200
753 {4k 410421 193kkskk5x40 i/ ﬁ:l:*]t%éJ\K 50
754 e 410421 19%xssksksksk5k50) A A XA R R 50
755 | bxFHL 410423 19kstkrksox25 Yt XA %éj\ = 50
756 o 4104231 9%xx55k5k5%2() VFH 4L XA R ZE 5 00
757 FxifE 4104231 9kkinkin22 ﬁbﬂi[ﬁ%ifmz 50
758 By 4104231 9%k 8 XN RERAS 100
759 SN 4104231 9%%x5x55%%26 i@ﬁii‘ilzi‘ﬂtﬁéﬁ% 100
760 2 pl 4104231 ksetortorn65 VEDIAE XA (R T 2 50
761 2% ] 4104231 9%%x55k5k%%1 6 VEP A XA (R 12 200
762 Xk 4104231 9ok 3 VEDI A XA RO B 4 100
763 Tt 410423 19#kkkak4+98 TftFiﬁﬁ‘jil:ﬁL%éJ\K 50
764 Zx 410423 19skskskokskk %60 PP A XA 2R 50
765 iy 4104231 9ottt 2X VEYAEIXAS %éj\ = 50
766 ik 4104231 9skkotsotonk2 | VR X AT R ZE 50
767 Easis 410423 19kkkrkix X ﬁbﬂi[ﬁ%ifmz 50
768 Wt 41042319kl 29 VRV XA R 2 100
769 Zx[]) 4104231 9ottt | X i@ﬁi?i&*ﬁ%éﬁ% 50
770 2wk 4104231 9kskkak5%48 VRV AL XA IR 2R T o 50
71 s 4104231 9sketsikooik 26 VR XA %?A = 100
779 T 410423 1 9pksnsrs23 VEYI A XA R f o 50
773 e 4104231 9sketsikoksisk 26 VYt XA R ZE 2 50
774 Hx i 41042319%kkkk80k28 it XA RE RS 50
775 P2t 4104231 PkstkortindT Yt XA R 50
776 E 4104231 95526 YEOHE X b R 2 50
777 Tl 410423 1 9pkintix 1 7 it XA R o = 50
778 ey 410401 19skstsottn24 g A DA R B 4 100
779 5% 410401 19keottorq 2 ﬁ&u‘?a&&ﬁ%éﬁ% 50
780 ¥ah 410401 1 Qokskstotokkk2 | KA XA RE RS 50




781 B 410401 19%kkskk5428 SRR XA R T 2 50
782 sk 410401 19kkiioonk 18 SRk DR %éj\ e 50
783 Xk 4104011 9sstotstorsoion2 7 SR A XA 2R 100
784 ke 410401 1 Pkttt 20 K AL XA %é% = 100
785 | Fxmie 410401 19sssototoskor20) 5 A XA R B 50
786 B 410401 19ttkiciorx 19 SR XA %é% = 50
787 o 410401 19skskskkk 30 A XA R 2 50
788 b 410401 19sksskksk%%89 KEHXMNRERERS 50
789 s 410401 19%kskskk5k24 ?&E?il:ﬁ%éi“ 50
790 kx| 410401 19%5kskskk435 K A XA [RZE 2: 50
791 ExH 410401 19kt 5 FEAE XA R B 50
792 BRAl] 41040119tttk 10 SRAEAE XA %éj\ e 50
793 i 410401 19tttk 1 4 SREAE DR IO R & 50
794 Rl 4104011 9otk 7 5 FEAE XA R % 200
795 Exi 4104011 9sstotstosoion | 8 SRAEAE DR I R & 50
796 T 410401 19sskskssksknk 12 gR A XA R 50
797 Bk 410401 1 9sksksiokeekek 42 KA XA RE RS 300
798 kT 410401 1 Qsksksksokoksk 19 Tk A XA Eéﬁ% 100
799 Bl 410401 19sssototoiskon 16 SRR XA R T 2 50
800 Zsx 41040119tttk 26 gk A XA %%1\ = 100
301 A 410401 19sksktokk 13 AL XA R 2 50
802 Ex* 410401 19tk 26 SR XA I ZR 0 2 100
303 Tk ] 410401 19sksktsksksk 22 TREAE XM R 2 50
804 Fxpt 410401 1 Pkttt 19 gR A XA R 2 = 50
805 Ex 410401 19%kkkk4+26 5 FE A XA R B 50
806 2k 41040119k 1 4 SR AR X S %§J\ = 50
307 T 410401 1 9ok 27 KA XA RE RS 50
308 Ik 410401 1 9skskksiokekk 25 Tk A XA Eéﬁ% 50
809 Bl 4 410401 19sssototoision | 4 SRR XA R T 2 50
810 2ol 410401 19kiorototon 19 SR A XA RS 7 2: 50
811 XY 4104011 9sototsiorsoion | SR AL XA 2R 50
812 B 2 410401 19tk | 3 SRk DR %éj\ e 50
813 B34 410401 193tk 27 SR XA PG 2% B 50
814 X 410401 1 Ptttk 22 K AL XA %é% = 50
315 e 410401 193kt 20 TREAE XM R 2 50
816 B 410401 19tetotkoior3 | SR XA B 2R 0 2 = 50
817 i 4104011 Psotkokorn28 SRAEAE XA I R & 50
318 i 410401 1 Qskskssokskk 24 Tk A XA Eéﬁ% 50
819 Bk H 410401 1 9sstotstosion | 2 SRAEAE DR IR R 50
820 Bt 4104011 Jorottoliok 19 SRR A XA IR 2: 50
821 Jrp 41040119tttk 20 SR AL XA 2R 50
899 % 410401 1 Ptttk 23 Tk AR X RS %éj\ = 50
393 prmeT 410401 19skkskskoksksk 16 KA XA R R 50
824 Wl 410401 1 Pkttt 26 ik AL XA %é% = 50
825 Bfsk T 41040119ttt | X SR A DX 2R 50
826 Fx 410401 1 Ptttk 45 ik AL XA %é% = 50
397 . 410401 1 9sksksiokekk 28 A AE XA R & 50
398 Frx 410401 1 Qskskksiokekk 27 XU 41 X A Eéﬁ% 50
829 T 410401 19%sksktsksok 15 RS XA R RS 50




830 fik 410401 193k BRI DR R b2 50
831 Xk 41040119kttt 27 XA AL X A &éj\zz 50
832 o 4104011 Ptttk | FXUSHE XA [ 25 1 2 =0
833 1S 410401 19kpkiokix28 XA 3 X A ﬁéﬁ% 100
834 XiJ* 41040119kt | BRUL L XA R 512 50
835 2 4104011 Q] 1 BRI X a;,\ 2 50
836 +* 410401 1 9sksksrrskrk 28 B XA T 2 50
837 ¥ 410401 19tttk 25 ﬁm@xﬁgﬁ Eéﬁ% =0
838 SR 410401 19toksortrn 1 X I 3 [X T 2 B 4 50
839 *IE 4104011 9oottolioron] 1 ﬁ_m/\:fi XA R Z: 50
840 e 41040119tttk 19 XU A [X B F 25 =0
841 HxE 4104011 Pirrrrx1X UA:& X A} % K 50
842 P 410401 19kttt W X 25 B =0
843 e 410401 19tetkiciorn24 U/\zi X A aéj‘ 2 50
844 fhxde 410401 1 9esototokord 6 XA XA TS 51 2 100
845 SR 410401 19k 2X BRI X A s B L 50
846 T 410404 19%kskstkskk3k0X B HE X K R B L 100
847 Gk 4104231 Petottokok 26 @_(mé\ﬁ XA s b 2 =0
848 Kk 410401 1 9kttt | ST 50
849 Fx 410401 19siksiknxd U/\:fi Xt aﬁj\ % 50
850 PR 41040119kttt 2b FXUS XA 25 =0
851 Y 4104011 Peottolron28 UA:& XA A K 50
852 I 410401 19kt 7 W X 25 B =0
853 i 410401 1 9ttorstolon29 %_m/\zi X [ K 50
854 iz 410401 1 9ottt 1 4 XU A X P 25 =0
855 HE 410401 19kskstorok 1 X XA X AT a;,\x 50
856 Zs A 410401 1 9otttk 24 FXUS - XA [ 25 51 2 =0
857 Jixd 410401 1 Gkttt ] | XA AL XA géﬁ% =0
858 [ A 41040119tttk 29 FXUS - XA [ 25 51 2 =0
859 A 410401 19kpkiokix27 B HE XA ja% 50
860 FIS 410401 19soksoksioorok23 FXUA A X P 28 2 =0
861 Fx 41040119tk X tﬂmﬁ LR 2 R 50
862 Fk 4104011 9tttk 29 I+ [X b 25 =0
863 Wikolsd 4104011 Forottorok 19 %_m/\zi XA R E 50
864 Ji* 410401 1 9otttk 19 XU A [X B 25 =0
865 T* 4104011 9ksbkikkx26 XU 3 XA a;,\x 50
866 Tl 41040119kttt X BRI X 25 Bt 2 =0
867 B 410401 19%xxxxx%%26 @_(ﬂlé‘?iIZH géﬁ% 50
868 Fxb 410401 19%ksxskkk%k1 3 W3 X bR 2 50
869 1 Ak 4104211 Qibivbiveionr 13 ﬂ%ﬁw MR B 50
870 kST 41042119kttt 1 7 BEREAL XM 2 B 0
8711 SR 4104211 9rriorsdX | WEBRHE KR RS I 22 50
872 HRES 4104211 9ottt 2X W [ X §§EA 50
873 il 4104211 9etkotkion26 I8 o DX e L 2 50
874 ok 4104211 9setssotsiox 10 W [ X b 2 b 2 0
8751 DR 410421 9wikrwionr 16| Wik DOH R 7 22 50
876 pkx 2 410421 19%kkskskkk4k24 BERE AL X b 2 e 50
877 ok 410421 19ksksokk22 A X A géﬁ% 50
878 K% 410421 19%kx5kx4%20 BERE AL X b 2 e 100




879 Rk 41042119kttt 20 W A X R 2 b 2 100
8801 sk 410421 | gkl “%K??fi[ﬁ%éj\z: 50
881 FExl: 410421 1 9kksrtkkx38 BERE AL XM 25 B 50
882 A1l 4104211 9pkiottn52 A X b R % 100
883 % 410421 19kkskskkk4k2 | BERR AL X b 2 e 50
S84 i 4104211 itttlook63 ”%K??fi[ﬁ%ém; 50
885 FxE 410421 19%kks4kkk%1 2 BERR AL X R 2 e 50
886 FISOIN 410421 1 9ssototolorsion] 1 BEIR AL X A géﬁ% 50
887 s 410421 1 9kststsisksksksk 22 B [ XA 2 B =0
85 | W 410421194ionxa5 | WEBRAL IS ﬁ'@m 50
889 Xl 410421 19sksetiotsoon ] 2 BER AL XA 2 B 100
8901 Seeh 410421 1 ittt | “%K??fi[ﬁ%éj\z: 100
891 Bhx 410421 1 9sssteiiekk 22 W [ A X R 2 100
892 1SS 410421 1 9otttk 25 S [ [X A 2 4 100
893 2R Y 410421 1Qsksototiokk3 B [ A XA 2 B 100
8941 W 410421 |Gtk 1X__ | WEWRHE X R R 0 2 50
895 2B 4104211 9sotksiotsor 25 W [ X b 2 b 2 =0
896 £ 4104211 9kkkkkk%27 MERE A XA R A e 50
897 {5 410421 193ssttiion 10 E AL XA 2 2 =0
895 | Dot 410421 19werwrresid | WARIDCH R 5 2 50
899 Bt 41042119ttt 1 3 W [ X R 2% =0
001l 410421 1 9ioktoiokx56 “%K??fi[ﬁ%éj\z: 50
901 Ly 410421 1 9ssksrttsek 24 AL XA 2 B 50
902 S 410421 19kktkkx48 [ IX A R 5 E 50
903 ESS 410421193kttt 10 W [ X b R 2 =0
04| 41042119ttt 17 “%‘Kﬁil:ﬁ%émz 50
905 ik R 410421 19ssksototoskon 19 B [ XA 2 B =0
906 Rk 410421 1 9tttk 23 BEE AL X AT géﬁ% =0
907 FEx 410421 1 93k 23 A X b 2 b 2 =0
908 Wxifg 410421 1 9skststsisisisk 1 0 AL XA 2 2 =0
909 A% 410421 1 9kttt 24 BEREAL XM 25 B 0
ooy Ex 410421 19ioktoiokx 20 “%K??fi[ﬁ%éj\z: 50
911 Bx5e 4104211 9sotksotsior | 3 A X R 2 b 2 100




